7.3 Periodic Graphs and Amplitude

We have looked at graphs of the form

f@)=gsint+d

Where “a” measures the
steepness of the graph

by a factor of “a”

- if a>1 it’s a vertical stretch
if a<1 it’s a vertical compression

N,

Where “d” shifts the
graph up or down
vertically by “d” units.

Now let’s consider

f(t) = asinbt +d where “b’ will effect
the period of the graph. Before “b” was 1 resulting in a
- period of 27.

By definition the period for sine and cosine is= —

The increments (sine: on, above, on, below, on OR cosine: above, on, below, on,

found by taking the Period and dividing it into 4 increments. So now what you will do, is take
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number is going to be divided into 4 to find the increments..... for example:
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When b> 1, you will have a horizontal compression by a factor of 1/b.
When b< 1, you will have a horizontal stretch by a factor of 1/b.
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For the tan and cot graphs, the period was every 7 and not 27

By defihition the period for tan and cot = ﬁ
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The increments are —
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Examplc: Write an equation for @anction with the given information:
oL b d_
. 1 D . T . .
Amplitude of > and perlod} Py and shifted 3 units down.
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f({t)=asinbt+d




PreCalc 7.3 Homework - Name

For #’s 1-8 , find all values for which the given statement is true.

1. cost = ——— 1.
2

2. tantz—\/g 2.

\ 1 .

J. CoSf{ = —— SR
2

4, sintz—-J— 4,
2

5. cosf=-1 5.

6. tant = —1 ’ 6.

7. sint=0 ) 7.

8. tant:——3 : 8.
3



In 9-17, graph two complete periods!!!

LABEL YOUR GRAPHS! BE NEAT!!
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Graph f(t)=-3cosi+2
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12. ’Graph f{t)=-3cos2t+2
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Steepness:
Period:
Increments:

V. Shift:

A
L - * - - L4 - -
. . - . . s
. . . . . s e
. . . . . - .
. . . . . . e
: + —t + oy
- - - - *> - »* »
. . . . . . ..
- - - - Rl a - -
. . . . . . e s
- - - * » * » L
. . - . . . e

Y

>
. . .. . . e .
- » - » - - - »
Ld » - - Ad - * -
. . .. . . e .
. . . s . .-
. . . . s e e
1 e N 3. - . i I3
. - .. . ..
v L4 - - - - - : -
. . .. . .
> - * * 4 » » -
- - - Ed Ed " * -

J
. . .. . . ..

A 4

A
. . .. . « e .
- * -« A Ed * » -
- - Ed - - 4 » -
. . . . . . e .
- - - - - - - »
. . - . . . e .
' + —t + bt
- » - - » - - -
. . .. . .« v .
. . . . . . e .
w Ed - - - - * -
- - - L - - - -
. . .. . . e .

Y




15.

16.

17.

Graph f(¢) = %tan wt+2

Steepness:
Period:
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Graph f(t)=2cosnt

Amplitude:
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V. Shift:

Graph f(t) =3sin2xt
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